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1 —8im 0.085 0.085
: AR - HNO3SFit 04 0.4
LIEE Fit 0.006 0.006
3 PakREE 0.03 0.03
4 o-PPEF I 0.04 0.04
5 o-350R 0.005 0.005
6 i 0.1 0.1
7 i ER 1.5 1.5
8 H 2 0.2
9 3 0.05 0.03
10 CHE 0.01 0.01
11 ez o 0.35 0.33
12 G Sl ] 0.003 0.003
13 * 1.5 0.8
14 Sl CERRES ., LIGT) 5 1.5
15 ESdCLGtH) 0.05 0.05
16 The 200 =
7 BEEs T EE 0.1 0.1
18 T 3 3
19 TE: 0.1 i
2 ZHHSE=THES 0.01 0.01
2 B 0.03 0.01
2 hEt=# = 0.002
23 B R 7 JEE 0.15 0.15
A (2 0.001 0.001
25 FEe k3 0.03 0.03
2 T 3 1
27 B iR 0.007 a
28 —PREFE 0.0053 0.0053
20 — PR 0.03 -
30 2} 0.005 0.005
31 st - 0.07 =+
32 —REPRE 0.03 0.03
33 = 0.01 0.01
34 —R=E 3 |




35 2371 4=FE 0.07 0.05
3 —LE 0.05 0.05
37 E=TeTF 0.014 0.014
38 FIfiy 0.15 =
3 A s 0.007 0.007
40 FAE 0.6 0.6
CrEtE
i GBS, SEED s 000
42 AR 0.01 0.003
43 PP, ¢ BIERT) 0.015 =
44 —BF 2 02
45 MS1C ZEEER) 0.001 0.001
=R
46 (i, SEED 02 0.05
ERELED
o ( FMaO2i4) % Lo
48 TEE 0.015 0.01
40 A6 =HIEER 0.003 0.003
50 BEs 1 0.5
51 BE—HOR 0.008 =
52 FERNE FHE 0.005 0.005
33 AlnEPEE 0.01 0.01
54 HEEL P 0.07 0.07
55 PR 9.10-? e
56 BRI P MRl B B 0.1 0.1
57 PEFE 0.04 0.04
58 ). 0.01 0.01
39 B BREHLSSMETIIE S » LlAST) o 0.003
60 = 0.003 0.003
61 WEF 0.008 0.008
ESE
= M8 ) ¥ o
63 HEERE 0.01 0.01
64 BRI FE 0.0015 0.0015
65 s 100 25
66 npLRE 0.08 0.08
67 i) 3 :
68 PIkRES 0.3 0.3
66 FoEfE 0.15 0.15




70 SR & 0.0003
7 i 0.1? 0.05
i% wmEEASY o I
it ( Bpl07 2405 » H4LIPvt) ;
73 Wit aa = 0.0017
i BRlE ¢ H2S045F it 0.3 0.1
' LS E it 0.006 0.002
73 . % A 0.5 0.05
76 Bt 0.008 0.008
77 bR 0.03 0.005
78 SEER - 0.01
- £hf - HCEyFit 0.2 02
LIEE it 0.006 0.006
80 FLH 0.003 0.003
81 WS ] 0.2 02
82 P 0.6 =
83 —RE B RERE 0.05 0.02
84 =2p S 0.6 0.6
83 =k 0.14 0.14
86 =&AL 4 ]
87 — i {h 3 1
88 WERE 4 2
§g fads 0.2 0.06
0 EREEf 0.1 0.03
01 B 0.01 0.01
2 PEE 0.035 0.012
93 BeBEf 0.15 0.05
04 SEE " PRET ( 38, SEE) 0.1 0.1
03 Ak C LR ) SEEEE(HE, SF4) 0.02 0.005
BBV H ALY ( NaF » NalSiF6) 0.03 0.01
VBT ALY ( AIF3, Na3AIF? , CaFl) 0.2 0.03
SSERs AT 0.03 0.01
96 i 0.05 0.05
97 = 0.1 0.03
08 2F 0.1 0.1
e = 0.1 0.1
100 BEES 5 = 0.01
101 MBd 0.04 0.02




102 SEE(ER) 0.05 0.05
103 75888 C LACrO0311) 0.0015 0.0015
104 HoE 14 1.4
105 Ho 0.06 0.06
106 o 0.04 &
107 HCERAS 0.1 =
108 HEaARE 2 02
109 B 5 5
110 Eefis 208 0.1 0.1
111 LEF 0.02 0.02
112 s 3 3
113 HE L% 0.3 0.03
114 CIET R 0.001 0.001
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Fe 5  mgm3)
Bk EfFY

1 A& 11 100 10

2 wA&s - 12 100 10
3 wAllem— 21 100 10
4 w;HS-22 100 10

3 ERERREME R ( C16~C20) 0.003 0.003
6 L e 0.2 0.1
7 ZHRIERE 0.005 0.005
g FEHETELH = 0.001
9 FxiE 0.15 0.15
10 Faan 0.05 0.0025
11 ESHUIEEE S 0.01 =
2 UGN 0.01 0.006
13 UTE2 B N 0.01 =
14 b AR 0.002 o
15 i ot - 0.07 0.07
16 Wik 71 0.5 =
17 i — 0.6 0.6




